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Tuesday , January 21 Example ; let M/s)- Yulrivis
,

where

Work#2 today
M is

the Mobius furt
.
What is

Recall: M(s)](s)?

Theorem 1 .8 : Inl · Note Thatuns)
Totals) on ; so bothMI

3) converge absolutely
for > 1 -

B(s)+ bins . Define c=** Thus for 071 ,

and set Us-
M(sit(s) =(

# As and pls) both converse But
obsolutely, then so does ufs)

Fo other words, M& syg for us1 .
and Uls]= als) Best * Consequenc: [Cs) to on Got 13

.
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Indeed
,
if F(s)= fluin's and Exercise: Show the above colculative

-

G(s) - Agains, the (where thisa holds for of2
,
as does

convenibsolutely ( Unins = 3(s-DJ(s) ;
F(D9(s) +G(s) ifoui onlyif

N-1
FLs) = G(s)/y() = G(s)MIs) .

where oh is the sum-of-divisors function.
&

g = fat if and only foger. Recoll: f() is multiplicative if
- Mobius inversion family. f(mm) = f(m) f(n) wherever (m,n)

= 1.

Exple: The identity [4(d)
= n is There1 .9 : let Flsfin's where

din

↑*1 = Cidentity function) . Here f is multiplicative. The

(in)(Ans)()-
P

wherever it t this is
,
wherever

ene(s) fin conve. S
Fular products
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Example: Mk] is multiplicative. The More generally :

forx I
, &excise: Show that if is&

M() = [plains totally multiplicative, then5 ,

-#( +GinS = T( - f(p))
P p

= I (It +ot+) in the holf-plane of obsolute
p convergence.

Consequently,

((s) = T(l + - +2+ +-)
P

= T(l - ps) .
P


